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ZEFE R B R8I E B (1 Sv/h)

= EEZE
No. | whETH 5 S & F 22 |mems BiAD %H (R - AR T ) o
N g15E | 4@ | ®i5@ | 4@ | #i15@
BEGE | ParE | BEee | e | DEes | Baes
rmr e o e 50cm 0.06 0.08 0.07 0.08
645 | LvbETh oM BREFTAY—EX A7~ | 78008 [ERES] ®L
1m 0.07 0.07 0.07 0.08
EURESELLA— XTI ILEY 50cm 0.07 0.08 0.07 0.08
646 | LvbhEMm Z Dt Sefrpatin 78148 [EESE] &L
AFHET (Duex) 1m 0.06 0.08 0.08 0.08
50cm 0.06 0.06 B A O ELBAE =0, KEDHFIE
647 | LvhET FDih ARWTSR DhHEINGEHRE 78208 = !
m 006| 006 [EES ] &L
] ‘ 50cm 0.06 0.07 0.05 0.06 0.06 0.06
648 | LvhET ZDih DULTHAER 78218
1m 0.06 0.06 0.05 0.06 0.06 0.06
50cm 0.07 0.07 BB A OEZBASELNCS. DB
649 | LupE Zot  |RESEXE W AL YEE | 7A1AE o Al T B/ RS T A
1m 0.08 0.07 [EREZ] ®mL
] ‘ ‘ 50cm 0.08 0.09 0.10 0.10 0.09 0.10
650 | LvbhEMm Z Dt WERETA(H—ER a—>al)— | 781380
1m 0.09 0.08 0.09 0.10 0.09 0.10
50cm 0.06 0.07 0.07 0.07
651 | LvbhEm ZDfth [F—AVNEE 78208 [EESE] &L
1m 0.08 0.06 0.07 0.07
L 50cm 0.08 0.08 0.07 0.07 [ AD [ LB ] N5SSTEBREBRYST
652 | LT Z0it BERAFZIEEEF OHY 78138 E3tH
1m 0.08 0.08 0.07 0.07 [EREZ ] mL
50cm 0.09 0.07 iRt s
653 | LvhET ZDih olea UEDA 78248
m 0.08 007 [EES ] &L
e vt e e o e 50cm 007 0.08 0.09
654 | LvbETH 04 ?E%’ﬁi*ﬁg%’”””é‘ ™| 7 R19m HIRH
1m 0.06 0.09 0.08
REXEXE WERET(Y—ER 50cm 0.06 0.06 iR A
655 | LvbhEm Z0it = 7H208
Yhire - 0.06 0.06 [EREZ ] &L
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BERRERSRE=FJ7RAE(RERUERFF160) HR
(K547 H6H~31 BRAEEM)

RF DK E B e RAE (REHRYD)
RBERKEANEARE (RFHD

ZEFE R B R8I E B (1 Sv/h)

No. | ETH 5 S & F 22 |mems BiAD %H (R - AR T ) s
5 %158 | SE [ #i5m | 4@ | #15E
BERE | BEKR | PERR | HEGR | BERE | Bass
BUXERERETA( - FvRA—TF 50cm 0.06 0.05 iR S
656 WhEH ZDith mEHE 7H20H m 005 0.05 [ EEZE] £L
1 e 4 b . 50cm 0.07 giﬁ%ﬁt?&%ﬁi&uf:&),&TF;EIG):H;'EIIE
657 | LvbETh oM SEEEXR/BREFTAIER | um £y No6AOREEREZIE MY ALL Yid
im 0.08 [EES] ®L
= b S o ss_ 50 0.05 0.07 0.08
658 | LvbEh Zott BBRESTAY—ERste0Va=T | 15188 M
JFlo 1m 0.06 0.07 0.07
HEBHET (Y —F Ri-stepS =T 50cm 0.07 0.05 B ha =1
659 | L\hET gl F5% TR18H —— 0.07 0.06 [ERES] |L
. _ 50cm 0.07 0.06 4B HE 5
660 L‘bé‘ﬂi %o)ﬂﬂ ;t{l"j'_Oll/:F% 7ﬁ14E| m 007 008 [rﬁ%] #\’SL
N . 50cm 0.04 0.05 4B Hh 5
661 WhE™ ZFDith HHNTHT 7H248 . 0.05 0.05 [EEZE] \L
HRGETAH—ER DAUYNY 50cm 007 007 R A
662 | LVhE ZDits 2 7R198 - 0.07 0.07 [EES] 8L
. _ - 50cm 0.07 0.06 4B Hh 5
663 | L vhET Z it ARLTSRA LDhEHE 7H198 - 008 007 [EEZ] =L
SHERELRTAH—ER EAC 50cm 0.05 0.06 RS
664 LhETH ZFDith Y 7H148 . 0.05 0.08 [EEZE] ®L
50cm 0.05 0.05 4B Hh 5
665 | L hET Z 0t olea NISHIKI 78248 - 005 004 [EEZ] =L
BHIXIERERETH—ERIEL 50cm 0.07 0.06 0.06
666 | L hETH Z 0t S e 78188 it =
DAERIBE 1m 0.07 0.05 0.06
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BERRERSRE=FJ7RAE(RERUERFF160) HR
(K547 H6H~31 BRAEEM)

RF DK E B e RAE (REHRYD)

RBERKEANEARE (RFHD

ZEFE R B R8I E B (1 Sv/h)

No. | ETH R TSR 22 |mems BeAR %H CET eI s
4 w158 | 4@ | #i5m | 4@ | %15
FERERE | AERE | ERERE | FAERRE | AESR | AEER
50cm 0.06 0.06 0.08
667 | LibET ZoM WEERET A H—ERDNE 78208 iR A
im 0.07 0.07 0.07

X IE1cERAERERIEE. FM4E7A13B~8A1BICEELEIEERRERSRE-FI IV RE(REBUEHRFFE15E) IICETHAERRE, TOMITONTIE. BERICEHT S,

58/58




